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left:1.4pt;padding-bottom:0pt;border-left:#ece9d8;padding-top:Opt;border-bottom:black 1pt solid;height:23.6pt;background-
color:transparent"> <div style="margin:Opt" align=center>6.15%2.13</div> </td> <td style="border-right:black Ipt solid;padding-
right:1.4pt;border-top:#ece9d8;padding-left:1.4pt;padding-bottom:0pt;border-left:#ece9d8;padding-top:Opt;border-bottom:black 1pt
solid;height:23.6pt;background-color:transparent"> <div style="margin:Opt" align=center>21.77%5.95</div> </td> </tr> <tr
style="height:23.6pt ;page-break-inside:avoid"> <td style="border-right:black 1pt solid;padding-right:1.4pt;border-
top:#ece9d8;padding-left:1.4pt;padding-bottom:0Opt;border-left:black 1pt solid;padding-top:0Opt;border-bottom:black Ipt
solid;height:23.6pt;background-color:transparent” rowspan=2> <div style:"margin:Opt">§}%¥Tbﬁ§ﬁg (Lanyu 100) </div> </td> <td
style="border-right:black Ipt solid;padding-right:1.4pt;border-top:#ece9d8;padding-left:1.4pt;padding-bottom:0Opt;border-
left:#ece9d8;padding-top:0Opt;border-bottom:black Ipt solid;height:23.6pt;background-color:transparent"> <div style="margin:Opt"
align=center>/"</div> </td> <td style="border-right:black Ipt solid;padding-right:1.4pt;border-top:#ece9d8;padding-
left:1.4pt;padding-bottom:0pt;border-left:#ece9d8;padding-top:Opt;border-bottom:black 1pt solid;height:23.6pt;background-
color:transparent"> <div style="margin:Opt" align=center>0.78%0.12</div> </td> <td style="border-right:black Ipt solid;padding-
right:1.4pt;border-top:#ece9d8;padding-left:1.4pt;padding-bottom:0pt;border-left:#ece9d8;padding-top:Opt;border-bottom:black 1pt
solid;height:23.6pt;background-color:transparent”"> <div style="margin:Opt" align=center>7.09t1.28</div> </td> <td style="border-
right:black 1pt solid;padding-right:1.4pt;border-top:#ece9d8;padding-left:1.4pt;padding-bottom:Opt;border-left:#ece9d8;padding-
top:Opt;border-bottom:black 1pt solid;height:23.6pt;background-color:transparent"> <div style="margin:Opt"
align=center>22.22+1.42</div> </td> </tr> <tr style="height:23.6pt;page-break-inside:avoid"> <td style="border-right:black 1pt
solid;padding-right:1.4pt;border-top:#ece9d8;padding-left:1.4pt;padding-bottom:0pt;border-left:#ece9d8;padding-top:0pt;border-
bottom:black 1pt solid:;height:23.6pt;background-color:transparent"> <div style="margin:Opt" align=center>2/</div> </td> <td
style="border-right:black Ipt solid;padding-right:1.4pt;border-top:#ece9d8;padding-left:1.4pt;padding-bottom:Opt;border-
left:#ece9d8;padding-top:0Opt;border-bottom:black Ipt solid;height:23.6pt;background-color:transparent"></p></p>
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